=

A12016-

T4 AR AT

o
T

~X
NIl
olp

s

a

TH
il

%

o,

Far, A12zx4]3

s
5

)

A2EE 27 AHA|

ol
=

<

A1

&}

A6 A7

7}t

S
=

5

2 A4

&}

100" .=

“80” % “

NS

s}A4

A 12241

1, 2& xo) A3FS S

A5slo 7 3§

j=4]
=

Sl

7} A|12ZF A4

IH

o] @Al

@ A2

o

kis

ol ¢

<1-3>9] 7]

AYA
ar

Gl

A12Z 2134118 75 2] o=

T
T=

ATt oheb A2 924113 4

PN
T

= e

ke



1. A1AIZANA AeE XA E] SAEE S 0 10059 5 o4

N A3t d S 100%9] 60 oA+
TAREE

of theh thEr[Eo] 10022 80 o]

FELG e AP

A1z(APL) o] 1A
MATHE =

A2Z(d & 7)o B3 AHxEH) A12Z2A18A435 9]

“100:+2] 100°]8t+= 2018 12¢ 3147bA] “100+E 9] 90°]sl"= ght.



& R
Aex(FddN=sd= 5) O ~
@ (& =)

® A AHE A16%J4A41389] TF
Aol osto] 7§27 A
o] 10089 19 s Fsts F
of tate] A= H
ool ow 3o

@ AFBHE A16x944138 9
A ost] F8917F A7
w9 1005 9] 200 )P F
Mo thsto] HAFat= HaL
= a2y 2o <dx AE>

St =

S

L A4 AYAED 7] A o]

) Y

ABE(FAANERE 5) D ~
® (A7 22)
@ ______________________
N CE
@ _____________________

=g
250911 m Rkl 9t 1 3094

2. AH AYAED 7)Aol

—— 509 b o2 s} oyl A A
A s 27| RHE o] 5009
A o)Al F3to] WAl =&
Holl 3 HEE 3= 5l
= HudeE 1009 Yoz sl
o

<A A>

<A A>

2509 o] gl =9 1 504 ¥

A22AAA WE) D § As3
zo|3e] FAo| olate] xqe

b 74BN Ashe A7

)t

]

A shofof g},

Hl &2




&"ol2k ght}) -
o] &}

@ (& =)

<Al A>

100+2] 80

Q__

5:%01 14 715

2 ve 4 5o 8ds BF
T5ote drols EE <1-3>
o 7l ofjt fEFdE 2
AEziolo] 10049 108 7Hit
sto] dEsdEs HHE F
olth. thub, A12x°j2A41% 7

5 A1229341% 259
oA shtel] st ZgH(O]

5t o] gkl zﬂﬂ Az
)




Sl

N—"

Vo o

i

A

>

AP AR S 100422
S5 oAl EH TS
o] 3 o)

2. A& A45 A A3t ol
& 1 100++2] 60 °]%

3. Ful=dir] Xl i3t

rlo
)—A
(@)
(@)
A

CslEE2T, SUARES
o 3 ARl ES 10039 50

Az o] A= FIET
k= i A B el

A2z & 7)o A3 A=z
A

A2zAdA4s ] NATE F
“10022] 100°]8t"= 2018 124
J1L7EA] “100%-¢] 90°]&t" = 3t
ot




